
Interpreting the Results of Regression

Predict the following, and

comment on the strength of the

relationship:
220

1. The height of a person with an

arm span of 187 cm.
200

2. The height of a person with a

foot length of 29 cm.

3. The height of a person with a
- X140

61 cm head circumference.

4. Given the scenario below, 120

what would you say the 100

perpetrators height might be and

why?

A break-in occurred last night at

Walker Hall, and several

computers were stolen. The

perpetrator left afoot print that

was approximate/v 26 in

length, and a stocking was fin1nd

near the scene that was stretched

to a diameter of 18 cm. Police are

looking anyone who may have

seen a stocking-masked suspect

near the scene.
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Armspan Versus Height
y = 0.9847x ÷ 0.2357
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